Name: Class:
Division facts to 10 )
OTE: iv sian is re eaLted subtraction
15+3= 157
15+ 3= - 3
Let’s subtract 3 from 15 repeatelly until we reach zero 12
Then, count the number of times we subtracted wl| 3
9
We subtract|3 from 15 wl 3
five times 6
R
Since we|subtracted 3 from 3
15 five times, it implies that =4l 8
15+ 3=5 0

Use repeated addition to solve the following problems.

18 + 9 = 35+ 5=
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Name: oo Class: o
4( Division facts to 10 )
OTE ivision is repeated| subtraction
15 3=
et’s subtract 3 from 15 repeatelly until we reach zero
Then, count the number of times we subtracted
15+ 3= 157 40+8= 40"
-1 3 - 8
12 LY. /
3 _ gl |
9 24
al & We!/subtract 3 from 15 -1 8 We subtract 8 from 40
6 ive times 16 five times.
e Lo |
3 Since we subtracted 3 fro 8 \ 50,40+ 8=5
s B 15 fiveltimes, it implies that -1 8
0] 15+ 3 =5 O~
8+9-= 18 ) We subtract 9 from 18 351+ § = 357
- 9 two times -1 5
9 30 /
-9 Since we subtracted 9!fro -1 5 {
0 18 two times, it implies that 25 \
18+9=2 - 120 We subtract 5 from
15 ) 35 seven times
50+25= 50 ) We subtract 25 from 50 =] 2
- 125 two times 10 ( So, 35+65=7
25 -1 5 ‘
= |25 Since we subtracted 25 from 5
0 50 two times, it implies that -/ 5
50+ 25 =2 N
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